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Balancing Equations
Problem Set # 2

•1

1. c F2 + ‘ H20 -) HF + 02

SO2 + 02 4 SO3

3. SO2

4. 3 C + -) 7 CO +

5. 3CO

7
6. + ) CO -, ) CO1 + Fe

1. 17. FeS +
• o - Fe2O3 + T SO2

Th
8. dKC1O3 4 ‘KC1 +

9. ‘ HCI + Fe203 -, :FeCI3 + • HO

10. 1 MnO + HC1 4 1 MnCI2 + 2 H20 +

11. C3H10 + L,02 -, !OcO1 +

,
12. C6H6 + ! 02 -) + ‘ H20

, IKOH + Cl2 -) + +

A1 + 1JNaOH 4 INa3AIO3 + 3 H2
‘1 1 F

15. 4 AsCI3 + HS 4 1 As2S3 + HCI
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©O @U1@I abncing Equations
Problem Set #3

6.

____

Fe2O5)

____ ____ ____

7.
- _CaCO3(5)

____ ____

8. ) Fe(S) +

____ _________9. ____H2S()

+

________10.

. NaCI

____ ____

11. +

___ ___ _______12. ____H3PO) ____ ____ ________13. ____C3H1)

+

____ ____ ________14. ____A1(5)

+

____ ____

•__H2O

1. Cu +

___O2(g)

4 CuO (s)

-_2. % H20(I) 4

___

+

___02(g)

-

3 __Fe + 1 H20 (I) _H +

____Fe3O)

I -,

4. th AI3(5) + H2S -, ± AS2S3() + _HC1

5.

____CuSO45H2O(I)

4 - CuSO$(S) + “
-
HOg

___ ___

+ ‘ H2 -, Fe(5) +

______

4

___CaO5)

+

___C021g)

I
S0 4 ‘ FeS

__ __

KOH 4 H2O(j) +

______ ____

4 -_Na +

___CI2)

.
‘ LI

____ ____ ____

12(g)

____“2I.’J4J3(aq)____ ____

+ ‘_NH4OIS 4 • H2O +

____(NH4)3PO)

“_02(g) 9’ H21> + —_CO2

024g) 9’

___AIzO<5)

K2S(5)

15.

____CH

+

____

°2(g) 9’ H2O + CO2(g)


